Efficiency vs Dxy(PV)
0.5

0.45
o 0.4

vs dxy(PV)

OE=20-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

— DQM_TT__original
[ Efficiend]

-1-0.8-0.6-0.4-0.2 0 0.20.4 06 0.8 1
TP dxy(PV) (cm)

0.9

Efficiency vs Dz(PV)

E\ 0.55 T T : : ;
X0.45F- -+ SEEREE CEETEES SEPRE CERRES Feeees
° : : :

2 04 Tepmeenegeeeees GRRREE P
z

£'0.35]

g

(%)

g 03

3

0.25]
0.2]
0.15]
0.1
0.05]

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

o
>
Ul

0.35]
0.3]

efficiency vs dz(PV)
o
N

o

o ©

oo
T T

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


